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1. Complete the pattern. 
1 x 4 =
10 x 4 =
100 x 4 = 
1,000 x 4 = 
*What do you notice about the pattern?

2.  The North Carolina Aquarium at Fort Fisher celebrated a record amount of visitors on Memorial Day.  They recorded 16,562 visitors.  How many times greater is the 6 in the thousands place than the 6 in the tens place?
A. 100		B. 10
C. 1,000	D. 10,000


3. The school is ordering 2,000 cupcakes to celebrate reading over 5,000 books.  The school can order the cupcakes in sets of 10.  How many sets of 10 can be ordered?

A. 20		B. 2
C. 2,000	D. 200


4. Look at the number 34,239. Which statement about this number is true?

A.  The value of 3 in the ten thousands place is   
 1,000 times greater of the 3 in the tens place.
B.  The value of 3 is the same in both places.
C.  The value of 3 in the ten thousands place is 100 
      times greater of the 3 in the tens place.
D.  The value of 3 in the ten thousands place is 10 
      times greater of the 3 in the tens place. 


1. Complete the pattern. 
1 x 4 =
10 x 4 =
100 x 4 = 
1,000 x 4 = 
*What do you notice about the pattern?

2.  The North Carolina Aquarium at Fort Fisher celebrated a record amount of visitors on Memorial Day.  They recorded 16,562 visitors.  How many times greater is the 6 in the thousands place than the 6 in the tens place?
A. 100		B. 10
C. 1,000	D. 10,000


3. The school is ordering 2,000 cupcakes to celebrate reading over 5,000 books. The school can order the cupcakes in sets of 10. How many sets of 10 can be ordered?

A. 20		B. 2
C. 2,000	D. 200


4. Look at the number 34,239. Which statement about this number is true?

A.  The value of 3 in the ten thousands place is 
      1,000 times greater of the 3 in the tens place.
B.  The value of 3 is the same in both places.
C.  The value of 3 in the ten thousands place is 100 
      times greater of the 3 in the tens place.
D.  The value of 3 in the ten thousands place is 10 
      times greater of the 3 in the tens place. 


[bookmark: _GoBack]Answer Key
1. 4, 40, 400, 4,000
Each place value spot represents 10 times as much as it represents in the place to its right. 
2. A
3. D
4. A
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